QP Revision Answers
MA – Financial Reporting

Revision 3 Inventories
Answer 1

The errors in the accounting policy on stocks and work in progress are underlined as follows:

“Stock and work in progress

Stock and work in progress are stated at the higher of cost and net realizable value. Cost is calculated on an aggregate basis, and comprises materials, indirect labour and an appropriate proportion of all production overhead expenditure. Net realizable value is determined on the basis of current net anticipated sales prices.”

(a)
Stocks and work in progress should be stated at the lower of cost and net realizable value.

(b)
The basis of valuation of stocks and work in progress is not clear. Cost of inventories should be assigned by using FIFO or weighted average cost formulas unless specific identification of cost can be made.

(c)
The cost of conversion comprises mainly direct labour, but this has not been included in cost component.

(d)
Net realizable value is the estimated selling price in the ordinary course of business less the estimated costs of completion and the estimated costs necessary to make the sale.

Answer 2

Since the production facilities occupy 80% of the building, 80% of the depreciation charge (i.e. $80,000) is allocated to production facilities.

The depreciation charge is then allocated to each unit of production using the normal capacity of the company, i.e. 800,000 units.

Therefore, the depreciation charge to be included in the:

Cost of closing inventories = $80,000 × 200,000/800,000 = $20,000
Answer 3
(a)
This is an adjusting event after the reporting period within the terms of HKAS 10. $23,000 should be written off to irrecoverable debts at the year end and the trade receivables balance correspondingly reduced.
(b)
In this case sales after the reporting period have demonstrated that the NRV of inventory item W32 is below cost. In accordance with HKAS 2, inventories of W32 should now be written down to NRV as follows:
	
	$

	Cost (12,000 × 6)
	72,000

	NRV [12,000 × (5.4 × 85%)]
	(55,080)

	Write off to profit or loss
	16,920


(c)
As it is not yet known whether the employee's legal action will be successful, Tentacle is correct to show it as a contingent liability. However, on the basis of the settlement in the other case, the contingent liability should be increased to $750,000. If the case is settled before the financial statements are authorised for issue, this will be an adjusting event requiring a provision for damages if Tentacle is found liable.
Answer 4
(a)

The costs to be included in valuing finished goods inventories in a manufacturing company are those costs incurred in the normal course of business in bringing the product to its present location and condition. These costs may include the purchase price together with import duties, transport and handling costs. The purchase price should exclude any trade discounts but not cash discounts.

The manufacturing costs should include the direct manufacturing costs of labour, amterial and other direct expenses, e.g. royalty payments.

The manufacturing costs should also include production overheads. These costs will include all materials, labour and services costs incurred in production, based on the normal level of activity. Any abnormal production costs should be excluded, e.g. exceptional wastage.

In order to arrive at production overheads, it is necessary to classify overheads by function, regardless of whether those overheads arise with time or as a result of production. For example, the rent of the factory is a production overhead arising on time basis, but depreciation on machinery calculated on a machine hour rate will relate to the level of production.

The main overhead classification is into production, selling and administration, but only production overheads are to be included in the valuation of finished goods inventories. Any central service department costs should be allocated over the functions to which their services relate. For example, the accounts department will serve all three areas of overhead classification, but a part only should be allocated to the production function. The only exception to this rule is that where there is a contract with a customer to provide goods to the customer’s specifications, then design, marketing and selling costs incurred before manufacturing may be included in arriving at cost.

The costs should be included at cost, based on a first in, first out basis. Cost of inventories should be calculated on an individual article basis, or in some circumstances on a group basis, but not on an aggregate basis, when comparing cost with net realizable value. It is not always possible to identify costs with specific units and in these cases a recognized basis of arriving at cost. Where a company uses standard costing, it will be necessary to look at variances and where appropriate apply these to the standard cost to arrive at actual cost.

(b)
	
	$

	250,000 units at $1 direct material cost
	250,000

	250,000 units at $1 direct labour cost
	250,000

	250,000 units at $1 direct expenses cost
	250,000

	
	750,000

	Production overheads $600,000 × (250,000 units/750,000 units)
	200,000

	
	950,000


Answer 5
(a)
Materials costing $12,000 bought for processing and assembly for a profitable special order. Since buying these items, the cost price has fallen to $10,000.

(b)
Equipment constructed for a customer for an agreed price of $18,000. This has recently been completed at a cost of $16,800. It has now been discovered that, in order to meet certain regulations, conversion with an extra cost of $4,200 will be required. The customer has accepted partial responsibility and agreed to meet half the extra cost.
Answer 6

(a)

Investment property

HKAS 40 Investment property applies to the accounting for property (land and/or buildings) held to earn rentals or for capital appreciation or both. Examples of investment property given in the standard include, but are not limited to:

(i)
Land held for long-term capital appreciation
(ii)
Land held for undetermined future use
Assets which HKAS 40 states are not investment property, and which are therefore not covered by the standard include:

(i)
Property held for use in the production or supply of goods or services or for administrative purposes

(ii)
Property held for sale in the ordinary course of business or in the process of construction of development for such sale
Owner-occupied property, property being constructed on behalf of third parties and property leased to a third party under a finance lease are also specifically excluded by the HKAS 40 definition.
If the entity provides ancillary services to the occupants of a property held by the entity, the appropriateness of classification as investment property is determined by the significance of the services provided. If those services are a relatively insignificant component of the arrangement as a whole (for instance, the building owner supplies security and maintenance services to the lessees), then the entity may treat the property as investment property. Where the services provided are more significant (such as in the case of an owner-managed hotel), the property should be classified as owner-occupied.
Applying HKAS 40 to Blackcutt's properties, the land owned for capital appreciation and which may be sold any time in the future will qualify as investment property. Likewise, the land whose use has not yet been determined is also covered by the HKAS 40 definition of investment property: as it has no current purpose it is deemed to be held for capital appreciation.
Investment property should be recognised as an asset where it is probable that the future economic benefits associated with the property will flow to the entity and the value can be measured reliably. HKAS 40 permits an entity to choose between the cost model and the fair value model. Where the fair value model applies, the property is valued in accordance with HKFRS 13 Fair value measurement. Gains or losses arising from changes in the fair value of investment property are recognised in profit or loss for the year.

The houses routinely bought and sold by Blackcutt in the ordinary course of its operations will not qualify as investment property, but will be treated under HKAS 2 Inventories.
The part of the housing inventory not held for sale but used to provide housing to low-income employees does not qualify as investment property either. The properties are not held for capital appreciation, and because the rent is below market rate and only covers the maintenance costs, they cannot be said to be held for rentals. The rental income is incidental to the purposes for which the property is held, which is to provide housing services. As with the example of the owner-managed hotel above, the services are significant, and the property should be classified as owner occupied. Further indication that it is owner occupied is provided by the fact that it is rented out to employees of the organisation. It will be accounted for under HKAS 16 Property, plant and equipment.
(b)
Lease

The issue here is whether the arrangement with the private sector provider Waste and Co is, or contains, a lease, even if it does not take the legal form of a lease. The substance of the arrangement should be considered in connection with the Conceptual Framework for Financial Reporting and HKAS 17 Leases. Key factors to consider are as follows.

(i)
Who obtains most of the benefit from the asset?

(ii)
Who controls the asset by operating it or directing others to do so?

(iii)
Who has the right to use the asset or to direct others to do so?

(iv)
Who has the risks and rewards associated with the asset?

The answer in each case is Blackcutt.

(i)
Waste and Co purchases the vehicles and uses them exclusively for Blackcutt. If Waste and Co goes out of business, Blackcutt can re-possess the vehicles and continue to use them for waste collection.

(ii)
Blackcutt controls the vehicles, since it stipulates how they are painted, and ostensibly owns them because they must be painted with Blackcutt's name.

(iii)
Blackcutt can use the vehicles and uses them exclusively for waste collection for nearly all their life.

(iv)
Following on from this, Blackcutt has the risks and rewards associated with the asset.
The arrangement is in substance a lease. As Blackcutt has substantially all the risks and rewards of ownership, the arrangement should be treated as a finance lease. The vehicles should be recorded in assets in Blackcutt's statement of financial position, with a corresponding lease liability. The value of the lease may be determined by considering the fair value of acquiring the vehicle. The service element relating to the waste collection may be considered separately.
(c)

Provision
Under HKAS 37 Provisions, contingent liabilities and contingent assets, provisions must be recognised in the following circumstances, and must not be recognised if they do not apply.

(i)
There is a legal or constructive obligation to transfer benefits as a result of past events.

(ii)
It is probably that an outflow of economic resources will be required to settle the obligation.

(iii)
A reliable estimate of the amount required to settle the obligation can be made.

A legal or constructive obligation is one created by an obligating event. Here the obligating event is the contamination of the land, because of the virtual certainty of legislation requiring the clean-up. As Blackcutt has no recourse against Chemco or its insurance company this past event will certainly give rise to a transfer of economic benefits from Blackcutt.
Consequently, Blackcutt must recognise a provision for the best estimate of the clean-up costs. It should not set up a corresponding receivable, since no reimbursement may be obtained from Chemco or its insurance company.
(d)

The basic principle of HKAS 36 Impairment of assets is that an asset should be carried at no more than its recoverable amount, that is the amount to be recovered through use or sale of the asset. If an asset's value is higher than its recoverable amount, an impairment loss has occurred. The impairment loss should be written off against profit or loss for the year.
Entities must determine, at each reporting date, whether there are any indications that impairment has occurred. In this case, impairment is indicated because the use to which the building is to be put has changed significantly (from a school to a library), a situation which will continue for the foreseeable future.

The recoverable amount is defined as the higher of the asset's fair value less costs to sell and the asset's value in use. However, these values are unavailable because of the specialised nature of the asset, and the only information available is depreciated replacement cost. Using a depreciated replacement cost approach, the impairment loss would be calculated as follows.
	Asset
	Cost/replacement cost
	Accumulated depreciation 6/25
	Carrying amount/ replacement cost

	
	$000
	$000
	$000

	School
	5,000
	(1,200)
	3,800

	Library
	2,100
	(504)
	(1,596)

	Impairment loss
	
	
	2,204


Blackcutt should therefore recognise an impairment loss of $2.204m in profit or loss for the year.
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